M1ZB3 Lecture 33 Part 2 (C02) Dr. Wolkowicz March 31 March 25, 2020 8:29 PM \$14.5. Implicit Differentiation (with the Chain RULE) Assume F(x,y) = 0defines y implicitly as a function of x. y = f(x) and F(x,fx)=0. for all x in the domain of f. 1.21 If F is differentiable, by Case I of Chain Rule, by differentiate both sides wrtzi  $\frac{\partial F}{\partial x} \frac{\partial x}{\partial x} + \frac{\partial F}{\partial y} \frac{\partial y}{\partial x} = 0$ Jf <u>Ə</u>F =>, <u>ay</u> polve for dy,  $dy = -\frac{2F}{2F} = -\frac{F}{F_y}$ .

Lecture 33 Part 2 Page 1

March 28, 2020 3:13 PM  $F(x,y) = y^5 - 3x^2y^3 + x - 1 = 0$ Find dy. Sol'n: dy = -Fx, provided  $Fy \neq 0$ . dx = Fy  $= -(-6xy^3 + 5x^4)$   $5y^4 - 9x^2y^2$   $= x(Ly^3 - 5x^3), y \neq 0$   $y^2(5y^2 - 9x^2), 5y^2 \neq 9x^2$ . Question: Given F(x,y) = 0When do you know there is a function y(x) so that F(x,y(x))=0 and dy exists: dx

Implicit Function Theorem (IFT) (simplest) If F is defined on a disk containing (a,b)where F(a,b) = 0, Fy  $(a,b) \neq 0$ , and  $F_x$  and Fy are continuous on the disk, then the equation F(x,y)=0defines y as a function of x I near the point (a,b) and y(>  $\begin{array}{c} dy = -\frac{F_{x}}{F_{y}} \\ dx & F_{y} \end{array}$ | ·\_\_\_\_ F(x, y(x)) = 0. Previous Example: Let (a,b)=(0,1). Then F(0,1) = 1 - 0 + 0 - 1 = 0Fx and Fy are continuous  $\begin{array}{l} F_{y}(a_{y}1) = 1(5(1)-0) = 5 \neq 0. \\ \text{Then by the (IFT) there is c} \\ f_{v}nchon y(x) \quad po \quad \text{that'} \\ (y(x))^{5} - 3x^{2}(y(x))^{3} + x^{5} - 1 = 0. \end{array}$ 

March 28, 2020 3:29 PM What if F is a function 3 variables, x, y, zand Z = Z(x, y). of Assume  $\overline{Z} = Z (x,y)$ Find  $\partial \overline{Z}$ ,  $\partial \overline{Z}$ .  $\partial x$   $\partial y$ given F(x,y,z) = C, constant. OF dx + OF by + OF BZ = DC =0. Ox Jx oy Jx JZ Ox Dx """" Similarly,  $\partial z = -F_y$ , provided by  $F_z = F_z$ , provided.  $F_z = F_z$ .

Example. Find  $\partial z$ ,  $\partial$ Sol'n. DZ = -Fx, provided Fy 70 9x Fz , provided Fy 70  $= -(\cos(x+y) + \cos(x+z) + 0)$ (0 + cos(x+z) + cos(y+z))-+y $F_{z}$ <u>dz</u> = <u>dy</u>  $-(\cos(x+y)+0+\cos(y+2))$ (0+cos(x+2)+cos(y+2)) Implicit Funchion Thm. Assume F(x,y,z) is a function of 3 variables, F(a,b,c) = C. Fz (a, b, c) +0

As well Fx, Fy and Fz are continuous pear (a, b, c), March 28, 2020 3:38 PM Then there exists a differentichle function z = z(x,y),defined near (a,b) such that F(x, y, z(x,y)) = Kfor cll(x,y) near (a,b)and Z is differentiable with partial derivatives,